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2. BIRY7F 74 v )LHDERALAL HDEREZE100%
N7 4 EBRBME[36.00] Z4[36.00] R—#ybDEBIEIERI (AT /B $FEEI-ATIM AME) IE FERIE]

JIEAST K 4 OUT IN b=V HDCP A fi5 %

1INk % 43 44 87 18.00  69.00
2 BSH AR 44 34 78 7.20  70.80
3 KEBAR FX 46 40 86 14.40 71.60
4 e B 44 42 86 14.40  71.60
5 W @Bl 40 43 83 10.80  72.20
6 T~ff #kth 39 42 81 8.40 72.60
T RE 43 44 87 14.40 72.60
8 FIH #h3g 45 47 92 19.20 72.80
9 JIRF ik 44 41 85 12.00  73.00
10 KH &I 47 44 91 18.00 73.00
11 R 41 43 84 10.80  73.20
12 TH &= 44 39 83 9.60 73.40
13 Py Bk 45 43 88 14.40 73.60
14 LR FAT 42 46 88 14.40 73.60
15 N\NHERE K3E 45 42 87 13.20 73.80
16 =i BiR 45 41 86 12.00  74.00
17 /Ny FHE 42 43 85 10.80  74.20
18 KK -+ 50 41 91 16.80  74.20
19 fiks  fa 47 44 91 16.80  74.20
20 JEAl HFF 46 45 91 16.80  74.20
21 NIL A 44 40 84 9.60  74.40
22 [HWEH W5 46 49 95 20.40 74.60
23 FiiH L 44 50 94 19.20 74.80
24 HI AB 47 46 93 18.00  75.00
25 PNH i Hil 53 46 99 24.00 75.00
26 fFiH LR 41 45 86 10.80  75.20
21 K G 53 45 98 22.80  75.20
28 FiIH ER 49 48 97 21.60  75.40
29 R FEA 52 44 96 20.40 75.60
30 LA M 43 45 88 12.00  76.00
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2. BIRY7F 74 v )LHDERALAL HDEREZE100%
N7 4 EBRBME[36.00] Z4[36.00] R—#ybDEBIEIERI (AT /B $FEEI-ATIM AME) IE FERIE]

JIEAST K 4 OUT IN b=V HDCP A fi5 %
31 =\ 2 40 47 87 10.80  76.20
32 FEIRL B 46 47 93 16.80  76.20
33 K FEE 51 60 111 34.80  76.20
34 /NI FEHI 55 49 104 27.60  76.40
35 AIRHE AL 45 40 85 8.40 76.60
36 [T bR 54 49 103 26.40  76.60
37 Al HEB 45 45 90 13.20 76.80
38 FH ER 43 45 88 10.80 77.20
39 B HhE 50 50 100 22.80  77.20
40 ¥ HT 61 53 114 36.00 78.00
41 A PEE 50 46 96 16.80  79.20
2 Il fEE 53 58 111 31.20 79.80
43 SeH R 44 46 90 8.40 81.60
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